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as 348,000
403 MtXSHHS =0l & 348,000 500,000 A 152,000
s 348,000
01 XM A2E X 348,000 500,000 A 152,000
OFSHEEXNRXNEML(ZSAZ) 348,000
s 348,000
HBEXGIIBAI XA (HEAY ) 5,302,000 4,471,000 831,000
403 UtXISHE X201 H 5,302,000 4,471,000 831,000
01 X SHHAN2E= 5,302,000 4,471,000 831,000
OHBXGIIBAIE XA 5,302,000
NEIHL AL IR X &4 st 109,500 109,500 0
201 Let249H] 4,500 4,500 0
03 &AL S HI 4,500 4,500 0
OXSHEAMSeATER I L H 3 4,500
303 Z& 3 5,000 5,000 0
01 243 5,000 5,000 0
OXNEZENLUAXN RIS 2LS2AA A 5,000




A= AEZ A= SM oMLY
H: JNAZENLFI (2 ELXNGMNLE/NLLEA)
Sl KIHE LKA =T CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 100,000 100,000 0
01 HIXNHHBHNEELES 100,000 100,000 0
20203 & =SS0t 01 0FD1 & & 3 100,000
KGOS ALE 2 F 3 bl 29,400 27,000 2,400
201 L4l 16,000 9,000 7,000
01 At 22l 16,000 9,000 7,000
Oger==&H| 8,000
OXNGHLEMIANBRXNESDES 8,000
O2d=¢ 8,000
OXNGNLEEAZAEF AL L HHI S 6,000
OZ2AMENEAZIEHA=LLHH S 2,000
203 YR =&t 13,400 4,800 8,600
03 Al =T YR =& 13,400 4,800 8,600
OXSHEME=A 4,800
O gL UMLASFA 8,600
NN AH = = L ALE DL 300,000 100,000 200,000
401 A& HIZ 201 I 300,000 100,000 200,000
01 A& HI 300,000 97,000 203,000
OXGHLHEHB H LA E IS A 300,000
NAHSHEAFT 8,672,000 10,084, 156 A 1,412,156
s 7,801,000
< 871,000
FAXSAME(ZA 2,556,000 3,434,000 A 878,000
s 2,265,000
< 291,000
403 MtXISHHE X201 & 2,556,000 3,434,000 A 878,000
as 2,265,000
< 291,000
01 X S22 = 2,556,000 3,434,000 A 878,000
OSAMMENISAE(ZSAZ) 2,556,000
s 2,265,000
< 291,000
HAXNAME(sHE) 6,116,000 4,526,000 1,590,000
s 5,536,000
< 580,000
403 A X EHHSH20IA 6,116,000 4,526,000 1,590,000
s 5,536,000
< 580,000
01 X ESHHMA=LE L 6,116,000 4,526,000 1,590,000
OsHEMSOESAE (ZSANZ) 6,116,000
s 5,536,000
< 580,000
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8,500,000
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A 1,500,000
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N = 0l & At & Ml A

HT A2 2A C2E T
SCALH TN (DELER/E2)
S ES (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
C2E T 151,344,486 160,999,763 N9,655,277
= 49,858,000
A 279,000
= 101,207,486
SCAHALS IR (NEULESF/ER) 110,897,005 125,708,502 N14,811,497
g 49,858,000
A 279,000
o= 60,760,005
TE=E 97,101,205 117,227,702 N20,126,497
Fag 42,421,000
o= 54,680,205
CHA S AT EO 10,834,000 6,667,000 4,167,000
g 9,300,000
=} 1,534,000
401 Al HI L 2 0HHI 10,834,000 6,667,000 4,167,000
= 9,300,000
& 1,534,000
01 Al& H| 10,414,000 5,947,000 4,467,000
OJSMBAAIXNZ NS (ZEST ) 10,414,000
= 8,880,000
& 1,534,000
02 2teldl| 400,000 700,000 A 300,000
OSMe8ARNC RS2 (REEY) 400,000
g 400,000
03 A& E2HH] 20,000 20,000 0
OJCGMBAAIXN T NBANLEUHE (ZESY) 20,000
Fag 20,000
SELFEZ N 33,258,000 12,858,000 20,400,000
g 23,280,000
= 9,978,000
401 AlEHIZL 2 0HY| 33,258,000 12,858,000 20,400,000
g 23,280,000
= 9,978,000
01 Al&H| 32,328,000 11,828,000 20,500,000
[(NSEdFE2NH(RESY) 32,328,000
Fag 22,350,000
= 9,978,000
02 2elbl 900,000 1,000,000 A 100,000
JSELFCZIHNSL2BI(ZEETY) 900,000
g 900,000
03 AlE 201 Y| 30,000 30,000 0
[(IS2SEL=C2NTAEEUHH (RES YD) 30,000
Fag 30,000
HER-FH)ZNENY 2,772,000 2,982,000 ~210,000
g 1,730,000




A= AT A= M4 E2EZ
M NYCALMSIN(DELER/EE)
el Age=s (22 &d)
2. 24 - BB S(SH) - HRAY - BES 0 &t il HI DS
=) 1,042,000
401 AIEHI L 2CHYI 2,772,000 2,982,000 210,000
= 1,730,000
& 1,042,000
01 A& Hl 2,552,000 2,680,000 A 128,000
O=(E2~EF)=2NENE(FESY) 2,552,000
= 1,510,000
< 1,042,000
02 Zclbl 200,000 300,000 A100,000
O (E3~Z2F )2 N2 (2S5 Y) 200,000
= 200,000
03 Al S THHI 20,000 2,000 18,000
OSMHEZ- YN HSALLUL (RSS
2) 20,000
s 20,000
SEFotAU=N N 1,329,000 10,858,000 A9,529,000
= 930,000
=) 399,000
401 AIEHI XL 2CHYI 1,329,000 10,858,000 A 9,529,000
= 930,000
=) 399,000
01 A& HI 809,000 10,738,000 A9,929,000
OS2 NCENE(ZESY) 809,000
= 410,000
< 399,000
02 2teldl 500,000 100,000 400,000
O&AHAI NS 2l (ZEEY) 500,000
= 500,000
03 A2 2 THHI 20,000 20,000 0
OGN NSALRUHE (2SS L) 20,000
= 20,000
SiaA=N 2L 715,000 4,272,000 A 3,557,000
[ 500,000
=) 215,000
401 AIEBIZ S CHYI 715,000 4,272,000 A 3,557,000
s 500,000
=) 215,000
01 A€ HI 595,000 4,170,000 A 3,575,000
OS2 NEAE(FESY) 595,000
= 380,000
& 215,000
02 Zeltl 100,000 100,000 0
OshadaINcHAL2elt(Z2S5Y) 100,000
= 100,000
03 Al& 2 CHHI 20,000 2,000 18,000




AR ALTAIR SN EREED
HFH: NS AL IR (UELER/EZ)
Sl XY EEE CERED
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
OSAAJAIXNEHEANLERUH (FSSY) 20,000
s 20,000
HZetots(1-2)2 NSNS 2,858,000 14,720,000 A 11,862,000
as 2,000,000
< 858,000
401 Al Bl 28I 2,858,000 14,720,000 A 11,862,000
= 2,000,000
< 858,000
01 A& HI 2,638,000 14,600,000 A 11,962,000
OXEHs(1-2)2NENB(FSEEY) 2,638,000
s 1,780,000
< 858,000
02 Zteltl 200,000 100,000 100,000
OZgs(1-2)2XNEHE22H(2ESY) 200,000
s 200,000
03 A& =TI 20,000 20,000 0
OZSHS(12)2NEHHALRUL(ZSE Y
) 20,000
s 20,000
DBLEFUHIRNEHES 2,572,000 3,429,000 A 857,000
s 1,800,000
< 772,000
401 Al Bl 28I 2,572,000 3,429,000 A 857,000
s 1,800,000
< 772,000
01 A& HI 2,252,000 3,219,000 A 967,000
ONFEFAINENS(RESY) 2,252,000
= 1,480,000
< 772,000
02 Zteltl 300,000 200,000 100,000
ODEAFAZ XN AL (ZESY) 300,000
s 300,000
03 A& =TI 20,000 10,000 10,000
ODBAFTLH2RNCHLALSUH (RESY) 20,000
s 20,000
Z27RHnAL 5,402,000 2,286,000 3,116,000
s 2,381,000
= 3,021,000
401 AIEBIZ 28I 5,402,000 2,286,000 3,116,000
s 2,381,000
< 3,021,000
01 A& tl 5,182,000 2,236,000 2,946,000
OZFUHNALE(ZEEY) 5,182,000
fay 2,161,000
< 3,021,000




A HECAIR A EE2EEY
M YA TR(DELSH/ER)
el Age=s (&)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
02 Zeltl 200,000 50,000 150,000
OZFunHAg2eld(#S3Y) 200,000
= 200,000
03 Al S HHI 20,000 0 20,000
OZFHUAEANLRHHI(ZESY) 20,000
= 20,000
OtEMBEE=NEAM 915,000 0 915,000
= 500,000
< 415,000
401 A& HI K 201 I 915,000 0 915,000
= 500,000
< 415,000
01 A& HI 805,000 0 805,000
OEMEHESNEHE (RSSY) 805,000
= 390,000
=) 415,000
02 2eldl 100,000 0 100,000
O MEHE2XNEA 82 (2S5 Y) 100,000
= 100,000
03 AIE 2 THHI 10,000 0 10,000
OOEMEHEINEHLEAERUEI(ZES L) 10,000
= 10,000
SEHUAIXNCHE 500,000 400,000 100,000
308 XXM SOIA 500,000 0 500,000
07 X SHH2ARESE S 500,000 0 500,000
OaEAa NN 500,000
ANgeAs 33,834,300 50,988,700 A 17,154,400
201 et | 20,000 8,000 12,000
01 AtR 22l | 12,000 0 12,000
Ogpt=2Hl 12,000
OgRENIASZHERAUS 12,000
02 2324l 3,000 3,000 0
O3323aYAA 3,000
OE2USEAIIRES 3,000
03 &Ar2 I 5,000 5,000 0
ODEECHRdH A 2ATS 5,000
203 YR =&l 4,300 4,300 0
03 AIHF=XH R =AH| 4,300 4,300 0
OXgeg2xd 4,300
401 A& HIZ 201 I 33,810,000 50,950,000 A 17,140,000
01 A& HI 31,310,000 48,100,000 A 16,790,000




A HA T A2 2A C2E T
H: JUCHESHI(WELESF/E2)
Sl NYEHE (B9 ®R)
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
OXeEAld 31,310,000
02 22l 2,350,000 2,600,000 A 250,000
O X8 AFS 22l I 2,350,000
03 AlE 201 Y| 150,000 250,000 A 100,000
OXS A AIE L] 150,000
NS0 ssiEa 409,000 307,000 102,000
305 HHAZ2S 3,000 3,000 0
01 A 2SS 3,000 3,000 0
dJolss X432 3,000
401 Al HI L E0HHI 406,000 300,000 106,000
01 A& H| 406,000 300,000 106,000
OXNgE0lssiE4 406,000
CZNESE XA 103,905 101,002 2,903
101 Q124 H| 103,905 101,002 2,903
04 JI2ZtHIZ2 2 NEES 103,905 101,002 2,903
ORNEgXTAIEN 103,905
N2 AHYIEX 1,380,000 1,380,000 0
308 XAHXIGH SO0l & 1,380,000 1,380,000 0
01 AIKISHHENEXZ 1,380,000 1,380,000 0
OXNgEx=2 01| 1,380,000
CEEdL+NE 210,000 210,000 0
308 MXISHHMSOIA 210,000 210,000 0
02N ES 210,000 210,000 0
JEzdszsd4nsg=2 210,000
CE2HHERERSEA 9,000 9,000 0
303 A2 9,000 9,000 0
01 A2 9,000 9,000 0
OS2 HHIERR2EZM2 9,000
FOI=RAAS 6,079,800 5,119,800 960,000
FOl=2AA\LH =R A H| 4,800 4,800 0
203 &R F & 4,800 4,800 0
03 AIZH =& 2= X H| 4,800 4,800 0
JXAStE 2 ALE =X 4,800
KNASHEZ (F0=2) 6,075,000 5,115,000 960,000
403 XX SHHS K20 ™ 6,075,000 5,115,000 960,000
01 XIS A=Z2E X 6,075,000 5,115,000 960,000
OZSANEEZSHEZ S HHI B A 35,000
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 1,016,000 1,314,000 A 298,000
= 1,016,000
01 HXHMA=LE X 1,016,000 1,314,000 A 298,000
OS2 XNSAIESHEASALY 1,016,000
= 1,016,000
CE2YXGAIE S E A St A ALY 240,000 0 240,000
403 MtXISHHE X201 & 240,000 0 240,000
01 AXISHHA=2E = 240,000 0 240,000
O X CAIE S H A E ALY 240,000
HHSAAY (EXNRHSH)(IIE/IIE) 86,745 39,404 47,341
Jl=&dl 86,745 39,404 47,341
Jl= &l 86,745 39,404 47,341
201 Lt 26,520 29,204 A2,684
01 At 22l 26,520 29,204 A2,684
pt=2Hl 10,200
OANREZLESF 5,100
OCHIMPEH IS AA2>EHI 5,100
E=3=i:] 16,320
OEXNEEYRFIZSEHI 16,320
202 044l 50,025 6,600 43,425
01 S LHOYI 50,025 6,600 43,425
OgR=80Hl 50,025
203 YR =&l 3,600 3,600 0
04 FENSELR=LH 3,600 3,600 0
[J20% Ol ot 3,600
405 RHoHE S HI 6,600 0 6,600
01 AL ESFH SH 6,600 0 6,600
CISADI(1TH) 6,600
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AT ALTAIR SN MEAESD
Hil: HZNUGCHUGZAFA(ZELNGMNL/NSLET Al
R TEAMEAAE CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OUEAZTEUEHOIXRXE 3,000
Os2gsi&a 5,000
SEAZ AL 145,000 120,000 25,000
308 MtXIEHMSOIH 145,000 120,000 25,000
01 HIXNHHBHEELS 145,000 120,000 25,000
ONEHX Ao MTH 60,000
OAME NS Not=d EE D 40,000
OHEHSIOIEH 45,000
MZ2HEABNUCANZE (FEXRNIMNL/XAL Al 29,260,800 24,296,000 4,964,800
=2 11,280,000
=) 17,980,800
HBAUEZAZH 29,260,800 24,296,000 4,964,800
2 11,280,000
< 17,980,800
A AR X2 3,010,800 900,000 2,110,800
401 AIEHIZL 2CHEI 3,010,800 900,000 2,110,800
01 A& Hl 3,000,000 893,520 2,106,480
OMZA~GHE(BEATMANHZZ 2L (F2
o) 3,000,000
03 Al 2 THHI 10,800 6,480 4,320
OMEZ A~ (BEATMAN)HZEZ2E 10,800
NHSBEBHOISAE(SUX)(HEEAL) 3,100,000 3,000,000 100,000
403 X SHHS =0l & 3,100,000 3,000,000 100,000
02 S 2S00 HE A2 X &AL H 3,100,000 3,000,000 100,000
OXHSBEE0ISAIE(S2X) 3,100,000
ZETHUEZANINLEZALEXE 22,516,000 19,856,000 2,660,000
2 11,258,000
) 11,258,000
401 AIEHI L 2 CHYI 22,516,000 19,856,000 2,660,000
2 11,258,000
< 11,258,000
01 A& HI 21,859,500 19,106, 000 2,753,500
O=2E28S6~AMEAHBEZ L 21,749,500
=2 11,258,000
< 10,491,500
O2E28SE~ATANHAZE2HESMASAEE
2 INEY 110,000
02 Zteltl 606,500 700,000 A 93,500
=285 6~AEAHBEZH A 606,500
03 A& =2 I 50,000 50,000 0
=2E28S6~MEAHBEZ A 50,000
OS2 ASE Y 590,000 440,000 150,000




A ALE A= A MEANZED
3 MERUENEMCAZTHE (FELTANL /TN AL T Al
& FFUEANZH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
201 ¢er24| 10,000 0 10,000
01 At 22l 10,000 0 10,000
O Yet==2H| 10,000
O =SB EH 10,000
206 M= Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
Oddss=XZdeleize 30,000
307 eI+l & 300,000 250,000 50,000
05 RIZt2E = 300,000 250,000 50,000
Oddss=l2esd 300,000
401 AIEHI L 20 250,000 100,000 150,000
01 A& HI 250,000 100,000 150,000
O=333XEH A 250,000
T E A 44,000 0 44,000
= 22,000
< 22,000
401 Al HI K 201 I 44,000 0 44,000
= 22,000
< 22,000
01 A& HI 44,000 0 44,000
OO0OMSEXMZZE 44,000
= 22,000
< 22,000
HY2AZHI (M AZH D) (IIEH/DIEH) 89,525 105,601 A 16,076
JlEZ3l 89,525 105,601 N 16,076
JlE&l 89,525 105,601 A 16,076
201 ¢er24] 29,400 34,326 A4,926
01 At 2t 2l 29,400 34,326 N4,926
O Yet==ZH| 10,200
OANREELES AL 6,000
O2nEEMS72HI 3,000
OCHIMPEH IS L AALS>EH| 1,200
E=3=i:] 19,200
OMEANZTHEERFISEH 19,200
202 4l 56,525 67,075 210,550
01 S LHOIYI 56,525 67,075 A 10,550
OHRF=80H 56,525
203 YR =&l 3,600 4,200 A 600
04 FN2ELRZ=TH| 3,600 4,200 A 600
[J20 0l 5t 3,600




== O'I
A & 0l & AF 2 E A A
20208 = =0l &b 2 BHSI A A
A= AEZ A= PN SRALAE D
H: NYCHELRN2d(RELER/EER)
Chel: S2nsYEE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SREALAME L 33,863,379 30,269,114 3,594,265
s 2,122,000
N 1,178,200
< 30,563,179
ANedesEsdN2e(RELSR/EZ) 27,678,969 25,532,572 2,146,397
s 2,122,000
EN 1,178,200
< 24,378,769
CRNsSYES 4,101,833 8,954,800 A 4,852,967
Atel &2 & 4,101,833 8,954,800 A 4,852,967
203 YR =2t 4,800 4,800 0
03 Al =AY R =& 4,800 4,800 0
OXNYESZZIAFA 4,800
401 Al HIZ 201 4,097,033 8,950,000 A 4,852,967
01 A& Hl 4,086,000 8,891,000 A 4,805,000
OAtel S =t ZEH ALY 4,086,000
03 A& 2 THHI 11,033 59,000 NAT 967
OAtel S = ALY 11,033
AAsSxuns2el e 4,244,000 1,280,000 2,964,000
s 2,122,000
< 2,122,000
A2 E 3,404,000 1,000,000 2,404,000
s 1,702,000
< 1,702,000
401 AIEHI L 2CHEI 3,404,000 1,000,000 2,404,000
s 1,702,000
< 1,702,000
01 A& Bl 3,392,000 993,700 2,398,300
OKREERAZNE(BZEEY) 3,392,000
s 1,702,000
=) 1,690,000
03 Al 2 THHI 12,000 6,300 5,700
ORI N (ZSEEY) 12,000
MW Z A 840,000 280,000 560,000
s 420,000
< 420,000
401 AIEHI L 2 CHYI 840,000 280,000 560,000
s 420,000
< 420,000
01 A& HI 834,708 277,984 556,724
O UNZAL(BESY) 834,708
s 420,000
< 414,708




A= ALTAIR SN ERALAYL
HM: Y-S UIRANAC(DSLER/IEZ)
@2 AAsxtus2end (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2

03 A& 2 0HbI 5,292 2,016 3,276
OSdUINZAMA(ZESTY) 5,292

N E X 22 14,355,691 10,140,772 4,214,919
S 1,178,200
& 13,177,491

WA XSS 67,900 68,400 A 500

201 Yot 2 Y| 2,400 2,400 0

01 AFR2t2ldl 2,400 2,400 0
OO =dl 2,400
ONEAUEQ AT 2| 2,400

202 4] 16,000 16,000 0

01 =2LHOHI 16,000 16,000 0
ORRHSHRFX I 16,000

401 AIEHI L 201 49,500 50,000 A 500

01 Al&Z Bl 49,500 49,500 0
O2s st E X E& X Al&I 49,500

N ez 22 8,679,094 9,971,472 N 1,292,378
N 1,178,200
< 7,500,894

101 2124 1| 45,754 36,072 9,682

04 JIZtHI2E2NEE 45,754 36,072 9,682
OMEtMol2=s& 45,754
Oorgd 68,720 6% x88 36,285
O A 6,000 x6H x88 3,168
Onstl 3,000 x6H »88 1,584
o422 4,717

201 Bt A | 259,800 270,400 A 10,600

01 At 22l Yl 57,800 58,400 A 600
Oget=g| 6,000
ONEsEzsHES 2,000
OFHSEYLUEUENANNSSRAUS 4,000
OO =dl 1,800
OAd&8JHLsSSHH2 AT =] 1,800
(RPN 50,000
O Zg8A18IHe =z 50,000

02 3524l 202,000 212,000 A 10,000
02222 A 52,000
(OFrsPIETE=: 20,000
OFJIAE S F Al 228 10,000
OXNHdEESLIEIMASAZ 22,000




A2 AHCAR SN SRALALL
H: NYCHELRN2d(RELER/EER)
& XNgEFX 2t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
PN A=Fal=gsl 150,000
OSEXNHLALIARTU 80,000
OA &I H = XYl 30,000
(OF=2=Pyi=S-DN]:] 20,000
OM&E+=SHH KXH| 20,000
206 24l 60,000 60,000 0
01 M2 4l 60,000 60,000 0
OMegxgdsdszs 60,000
303 &3 6,000 6,000 0
01 L& = 6,000 6,000 0
OMHEGESRLA X &S AIZ 6,000
305 Hat= s 14,000 14,000 0
01 Hia=s 14,000 14,000 0
OAs2eEilaa 14,000
401 Al HI L= THYI 8,233,540 8,685,000 A 451,460
e 1,178,200
=) 7,055,340
01 A& HI 8,203,000 8,631,500 A 428,500
OXNYER A 22 A 8,203,000
EN 1,178,200
< 7,024,800
03 Al 2 THHI 30,540 53,500 A 22,960
OXNgEsR22AY 30,540
405 TtabF S 60,000 0 60,000
01 et EZFH S 60,000 0 60,000
OE2E+=SFH 2 60,000
OOl 0tOolEl(1CH) 60,000
T 22O E X F YA 150,000 100,900 49,100
401 A& HIZ 201 Y| 150,000 100,900 49,100
01 A& HI 150,000 100,000 50,000
OS2 HOHHEX ALY 150,000
EHSEHII MO = 2 AL 2,300,000 0 2,300,000
401 Al HIZ 201 8] 2,300,000 0 2,300,000
01 Al gl 2,300,000 0 2,300,000
S RAY 2,300,000
H1BSEHZ0IE M= b (HEH A HR) 3,158,697 0 3,158,697
401 AIEHI L 201 3,158,697 0 3,158,697
01 A& HI 3,151,437 0 3,151,437
JM18S EH S 0l E X off = 2 8 3,151,437
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P A=K I 2l (e H)
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
03 Al&E 201 Y| 7,260 0 7,260
[JH18SEHZ0IE Mol £ 7 1| 7,260
2oL e 4,977,445 5,157,000 A 179,555
=] sl 1,534,505 1,800,000 A 265,495
401 AlEHIZL £ 0HY| 1,534,505 1,800,000 A 265,495
01 Al&H| 1,529,000 1,792,400 A 263,400
WM A 1,529,000
03 A& 20| 5,505 7,600 N 2,095
OO WE M ALY 5,505
WEELE A 2,033,534 2,111,000 NTT,466
201 Bt 212,000 212,000 0
01 AP 22| H| 8,000 8,000 0
Oeds¢ 8,000
OSEJ(MIIs)2HEEALKL S B AL ]| 8,000
02 E2=224%H| 204,000 204,000 0
OZ2Z2292HA 144,000
[OYSPIETE=] 144,000
A& &4l S Al 60,000
O&EI|etM 22| oy &t 21,000
OAagrorMzte| e 9,000
OXNEZHIIAIER X 22 30,000
401 Al HI L 2 0HHI 1,821,534 1,899, 000 NTT,466
01 Al& H| 1,815,000 1,883,000 A 68,000
OnEE 42 2AH 1,815,000
03 AlE 21| 6,534 16,000 N9,466
OnEE482AY 6,534
WEFHUE AU N UM KICH 1,340,006 1,176,000 164,006
401 AlEHIZL 2 0HY| 1,340,006 1,176,000 164,006
01 Al& H| 1,335,200 1,164, 100 171,100
OneEddddAdL UM 1,335,200
03 Al 201 Y| 4,806 11,900 ANT,094
IDYFUHALIUAR 4,806
HEYSAE 4 69,400 70,000 A 600
401 AlEHIZ £ 0HY| 69,400 70,000 A 600
01 Al&H| 69,400 69,400 0
OBHEYSXES 69,400
SIMSRANELZR(2EL NI ML/ ' Al) 1,731,513 0 1,731,513
ot AYIF=XN 1,731,513 0 1,731,513
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AR AMC AR SN 2RALALL
M. HMSABH (BLALALE A)(IIEH/IIE
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS 0 AF o ﬁlf& HD=2
Oz =H 1,730,362
-z (2712 2) 4,063,800& x15H ~12& 731,484
-72(1758) 3,193, 100 »23H «12& 881,296
-83 (s 8) 1,959,700& x5 ~12& 117,582
odz2x4¢ 1,730,361,600& *1/12%50%*23] 144,197
O&dZx=gotdt=a 46,920
- 25E 0] & 130,000& *10H = 12& 15,600
- 208 0 AH~25E 012 110,000 x10¥ 128 13,200
- 1549 0l &~20 0] ¢ 80,000&*10H x12& 9,600
- 109 0l &b ~15 0] 2F 60,000& *11H x12& 7,920
- 540 &~104 0] 8¢ 50,000& x1H x12& 600
O 514,618
oMY 33,102
-HeBRALY 33,102
KE=gii =
89, 156,000 /12%78%*4 . 1%*1H «12& 2,852
122
78,966,000 /12%78%*4 . 1%*3H «12& 7,576
52U 4,063,800& x4 . 1%*5H ~12& 9,997
62U R 3,193, 100& x4 . 1%*5H x12& 7,856
72U 1,959,700& x4 . 1%*5H x12& 4,821
OJHEAELE 113,062
-IIEsE 85,680
ol 2 Xt 40,0003 x47H =12 22,560
D PE| 20,000& x47H = 12& 11,280
== | PE| 60,0003 x47H x12& 33,840
- A olE XS 100,000& x5 x12& 6,000
- JIEHDFS 20,000& x50H x12& 12,000
- XMHESHHI B xS 9,382
nssn 469,080& *5H 43| 9,382
-FE0EE Y 1,500,000& x1H x12& 18,000
OS2 2Y 37,080
-RE2RESY 6,960
= 50,000 «10¥ x12& 6,000
93 40,000& x2H x 128 960
-EL224d(JsdESLY) 29,640
- 53 50,000& x2H x 128 1,200
- 672 30,000& *x31H x12& 11,160
- 8~932 20,000& «10¥ x12& 2,400
b2 (D& AF) 50,000& *3H x12& 1,800
IS I=YPIE=FSEPIPN Y
30,000& x25H x12& 9,000
S JFAEZ2(AFEDIAE) 20,0002 %14« 128 3,360




AR ALTAR SN SRALAYL
H: HH2IZH(SRALAME ) (IIEHIIE
& o 2d| (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jtet 2 (2&6~72) 10,0008 2+ 122 240
Jha2 (288~93) 20,0008 2% +12& 480
-SLYRLY(HYULY)
40,0003 x1H » 128 480
OxU2R+ES 330,174
A2 RE 330,174
Nz 11,6343 x 10 Al 2t+43H « 122 60,032
CEE 11,6343 x45A| 2t+x43H x 128 270,142
ORgz=z2I=+¢ 50,000& x2H 123 1,200
PSR Eaull 130,000& »47H 128 73,320
OFEFotd| 1,730,361,600& *1/12x60%*23| 173,037
OS2 40|
2,056,775,600% 1/12%86%*1/30% 152 73,702
03 RIAHAZ 2B+ 535,176 506,793 28,383
OEslEs 263,894
OoJlzs 2,050,000 x6H x12& 147,600
o&N= 2,050,000& x6% x200% 24,600
OHxt=< 2,581,670& /209+8x6 % «21 12,452
Ot L=y 255,000 x6H =123 18,360
Osg22=+8
2,581,670 /209 1.5+20Al 2t+6H x12& 26,682
O0ddl 30,0003 x15€ «6H x12& 32,400
o1 =dl 150,000& x6H 23| 1,800
O A 222 (FAr2al) 38,288
OJles 1,906,900 x1H x12& 22,883
Od0i= 1,906, 900& » 1H x200% 3,814
OAR=< 2,414,720& /209%8* 1% «24 2,219
oz2s=+¢ 306,000& x 1 128 3,672
Ol 30,0003 «15€ «1H «12& 5,400
o1l =l 150,000 » 1 »23] 300
OFA2R(AES8EL) 57,768
OJles 1,906,900 «2H «12& 45,766
Od0i= 1,906, 900& 23 x200% 7,628
Ogxt==< 2,414,720 /209+8x2H 16 2,958
2+ 34,0003 x2H 128 816
o1 =l 150,000& »2H 23| 600
O EE LR 74,173
OoJlzs 1,906,900 x2H x12& 45,766
Oo&N= 1,906,900 & 2H x200% 7,628
OAR=< 2,414,720 /209%8%2H «21L 3,883
Ot L=y 204,000 x2H «12& 4,896
O0ddl 30,0003 x15 x2H 128 10,800
o1 =l 300,000 x2H 23| 1,200




HE T A= =AM
HE2AAH (2R AL AAA)(IIEH/IIE)
ol 29|

2.9h B3R - MEAY o A o il 2
OJIs< 17,673
OiIEx=Y 13,920
- B 2 Xt 40,000& =11 5,280
- S AE 20,000& *11 2,640
- =M XE 60,000& *3 2,160
- AR OI = X 100, 000& *1 1,200
- JIEHDHE 20,000& *11 2,640
OXHsH 8 xE 3,753
-1NSstu 469,080& x2H 43| 3,753
OwsS 8 x| 60,000& *11H * 7,920
OY&E F Oyl 750,000& 11 *23| 16,500
OFHZ A 130,000& *11H = 12& 17,160
OFAMXSHEAS 2] 1,000
O4 2 40,800
204 & 2 4= A H| 95,220 93,660 1,560
02 =282 xH| 95,220 93,660 1,560
042 4,800
=] 9,000
ez 29,700
o722 46,500
[18~92 5,220
| =3l 247,491 235,770 11,721
Jl2&l 247,491 235,770 11,721
201 et A H| 95,838 88,200 7,638
01 AFR22t2l Yl 95,838 88,200 7,638
O Bt==H| 64,350
OMBESL=S 2L 39,000
OLARREASF Y 2,000
OLHZZ O (EST)Y a0l =l 6,600
oddg2ES/N2 L 13,750
- AutoCAD 3,750
- BF=2MSOffice2019 5,000
- SHA QI A2018 5,000
Ootd 2| P RIAEEZ A Y| 3,000
2 &l 31,488
OYRFRZHHI 31,488
202 0dd] 124,383 122,300 2,083
01 2LHOHI 124,383 122,300 2,083
AR =X 0| 124,383
203 R =&lY| 16,870 16,870 0
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